
------------------------------------
Operating System:(Only 5 Questions)
--------------------------------------

1.What is diners phylosophers algorithm.
2.What is atomicity.Explain
3.Give an example of source- level debugger in unix/linx.
4.What is Pre-emptive multitasking.
5. Do not remember this one.

---------------------------------------
DataStructures:(ONly 5 Questions)
--------------------------------------

1.Where will the parameters be stored when a function is called in a 
program.
2.What is recursion?What are its disadvantages.
3.Which one is the best and efficient sort?
4.& 5Do not remember these two either, guess they were easy.

-------------------------------
Networking:(Only 5 Questions)
---------------------------------

1.ASN.1 belongs to which layer.
2.Give an example of popular Transport Layer Protocol
3.What is the netmask of Class B IP address?
4.Explain CSMA/CD.
5.Given a size from 0-7 what would be the least window size.

-----------------------------------
C Language (Total 13 Questions)
----------------------------------

1.main() {
      printf("%d",printf("HelloSoft"));
      } Output?

2.case 1:                        case 2:
      typedef Struct {                  typedef Struct {
            int a;                              char p;
            char b;                              int q;
            int d;                              char k;
            char e;                              int l;
            }A;                              }A;
      Assuming 'packing' is not enabled, which case will give an 
error of Sizeof(A) less.

3.main() {
      int i=3;
      printf("%d %d %d",i++,i,++i);
      }

4.main() {
      int i=10;
      int j,k=5;
      int a[10];
      for(j=0;j<10;j++)
            a[j]=(i+k)+(i*k);
      }
      Optimize the above code.

5.Write In Order Tree Traversal Pseudo-code.

6.main() {
      int *p=0x100;
      int *q=0x100;
      int k=p*q;
      printf("%x\n",k);
} Output ?

7.Char* foo(Str...) {
      char str[4];
      strcpy(str,"HelloSoft");
      return str;
} Output?

8.int a[10][20][30][40];
int *p
  How to access an element of a using p?

9.main() {
      int i=10;
      if(i>20)
            if(i==10)
                  print("Hi");
            else
                  printf("Bye");
      } Output ?

10.main() {
      float f;
      int i;
      //something like this i do not remember these 4 questions 
exactly
      f=(float *)malloc(sizeof((float *)*4));
      }
  Some Question was asked i do not remenber .
            

11.One more Question as above asking Where will the variables be 
stored ?

12.& 13. I do not remember these two as i did not spend much time on 
them as they were easy.




1.Diff bw Real time os like vxworks and unix.
2. what is mutex.
3.Difference bw TCP,IP,ODS.
4. What is a crone job.
5.Why shud goto statement be avoided in C programming?
6.Write a function to delete  node in a linked list.
7.function to count no. of 1s in a 32 bit no.
8.wite a program to print the fibonacci series..upto A given number the program shud be able
 to give error when the no. inputed is too large (int size=4 bytes).
9.What is meant by bus error,segmentation violation?
10.what is grep
11.What r the advantages and disadvantages of storing variables in different classes
12.When inputting from a file when wud u use fgets() and fscanf()?

1. How can a process be started automatically in UNIX ? 

ANS : Through CRONTAB { options were crontab, inittab, and two more } 

2. What is the meaning of run level 6 ? 

ANS. Reboot 

3. How can you determine which file has generated the CORE ? 

Options were.. 

1.ps -ef | grep core 

2.ps -ef | grep <executable file name > 

3.pfile core 

4.filec core 

Options 1 or 2 may be correct i am not sure.

> INFOSYS QUESTIONS

> 1. Analytical question. 6 poets, liking and

> disliking

> of poetry E.g.: All who like the poetry of Frost do

> not like the poetry of Coolidge. Some who like the

> poetry of Dunne like the poetry of Earl. 4 related

> questions.  

> 

> 2. Analytical question. 4 people, 4 products. E.g.:

> Vickie will not get a tie unless George buys a

> scarf.

> Remmie will not get a hat unless Jack buys gloves. 

> Around 12 statements like this. Who will buy what? 

>  

> 3. 13 kigs and 6 libs can produce 510 tors in 10

> hrs,

> 8 kigs and 14 libs can produce 484 tors in 12 hrs,

> find the rate of production of tors for kigs and

> libs.

> Express the answer in tors/hr. 

> 4. Find the 3 digit no. whose last digit is the

> square

> root of the first digit and second digit is the sum

> of

> the other two digits.  

> 

> 5. Meera was playing with her brother using 55

> blocks.

> She gets bored playing and starts arranging the

> blocks

> such that the no. of blocks in each row is one less

> than that in the lower row. Find how many were there

> in the bottom most row?

> 

> 6. Rahul took part in a cycling game with many

> others

> in a circular closed circuit. After pedaling for

> several minutes, he found that 1/5th of the cyclists

> ahead of him and 5/6th of the cyclists behind him

> together formed the total no. of participants. How

> many were participating in the race?

> 

> 7. Age sum involving 3 people. Similar to sum no.

> 127

> in Shakuntala Devi but very much tougher than that

> sum.

> 

> 8. Tom wants to catch a hare. He is standing 250

> yards

> south from the hare. The hare starts moving due

> east.

> Tom, instead of moving in the northeast direction,

> moves in such a way that at every instant, he is

> going

> towards the hare. If speed of tom is one and

> one-third

> times that of the hare, find the distance each

> traveled before he caught the hare.

> 

> 9. Two people are playing with a pair of dies.

> Instead

> of numbers, the dies have different colors on their

> sides. The first person wins if the same color

> appears

> on both the dies and the second person wins if the

> colors are different. The odds of their winning are

> equal. If the first dice has 5 red sides and 1 blue

> side, find the color(s) on the second one.

> 

> 10. A company’s director said during the board

> meeting: “ The company’s income from roads will be

> sufficient to pay 6% of the entire stock issue, but

> since we are paying 7.5% interest on the preferred

> stock of Rs.4, 000,000 we are able to pay only 5% of

> the common stock”. Find the value of the common

> stock.

> 

The solutions of the infy test held on 6th afternoon

( solutions which i've got)

1.  This is a direct question from G.R.E Barrons book.

2.  I dont remember the answer.

3.  kigs- 1.92 tors/hr and Tors....

4.  462

5.  10 blocks

6.  31 cyclists

7.  pretty tough . i didnt solve it.

8.  in the question it was mentioned that both the   

hare and the man run with equal speeds, and the man is

4/3 times faster than the Hare. I didnt understand the

concept.   ( the man traverses a parabolic path)

9.   Three Red and Three Blue.

10.   I didnt understand this question. I solved it ,

but i'm not confident.If any one solved this problem ,

please mail me your answer, and the method....

Hi all,

U must read the question carefully, they r asking that can we write a code in java without class.

Why not? JAVA has something called "interface". So, try the following, it will compile perfectly.

public interface NoClass
{
         public void writeFunction ();
}
save this code in a file named "NoClass.java" and compile it. It will work fine.

if this is wrong and anyone have some other answer please do inform me.

few qns i remember are

      The highest Score in an innings was 3/11 of the total and the next highest was 3/11 of the reminder. If the scores differed by 9, find the total score.
a)      151            b) 161            c) 121      a      d) 101            e) 137
Ans: c
      A boy was asked to multiply a certain number by 53. He multiplied it by 35 and got his answer less than the correct one by 1206. Find the number to be multiplied.
a)      37            b) 67      a      c) 87            d) 97            e) 107
     Ans: 67
A Problem like this not exactly the same but on same model.
      If the manufacturer gains 10 %,  the wholesale dealer 15 % and the retailer 25 % then the cost of Production of a table, if the retail price is Rs.1265
a) 632.50      b) 800            c)  814            d)       834.24
Ans: b
      A trader marks his goods up by 50% and declares two successive discounts of 20% each. What is his overall gain?                                                
a) 10% gain      b) 4% gain      c) 4% loss (A)      d) 10% loss      e) No loss  No gain
Train Problems - 3 as finding speed of train, how many secs it will cross each other etc.

Age problems -3 , find mothers age,fathers age etc.

Statistics Problems(probability) as A-this much , B-This Much, A n B-this much and A u B - ?

Angle Problems which deals with triangle - 3 problems.


Section III - Logical reasoning - 30 qns in 30 mins.

  Tower of Hanoi Problem - Ans : 7

  problem on fig. find the shaded area, square of size 14cm.. ans: 42 

  problem on symmetric fig ;; ans less than the 1172(check) . 

  Blood Relation Problems - 3

  Then a passage is given on blood relation and 4 qns asked
  how many male: ans -4 and few etc.

  Find odd man out of the given series - 3 problems 
  pretty simple put A-Z and number them 1-26 and then u can find easily odd man out.

  Find the missing letter - was a bit tough to establish relation - 3 problems

  u have 3 figure -based on the figures ques asked.. easy one..                 
  eg: Fig Triangle means Strong         Fig Square means Tall          Fig Circle means Fair.
  Ques asked is find the number that represents Strong Tall and Fair persons.. easy one ..
   ANs : 4
   ANother question Women,Sub inspector,graduates -  Ans: 3

  An Flow Chart - GIven Units - 250 
  find final Value with formulae - (units*1.25) and few calculations like this Ans:506.25


Hi ,

We cannot write a Java program without a class bcos java is completely object oriented programming language.The minimal java program to run would be 

public class Helloworld{

public static void main(String args[])

{

}

}

and to compile omit the main function.But a class is necessary for any java program.

Some of the question ,i remember, are the following

1. 
#include <stdio.h>
#define sqr(x) (x*x)
int main()
{
  int x=2;
  printf("value of x=%d",sqr(x+1));
}
 
What is the value of x?
a)4 b)5 c)None d)can not compile
Ans: 5 

2. what is the wrong in the following program?
#define  LBRACKET {
#define  RBRACKET }
#define MAIN main
int MAIN()
LBRACKET 
  int x=2;
  printf("%d",x);
RBRACKET 
a) This program will compile
b) compilation error 

3.
#include <stdio.h>
int main()
{
  int x=4;
 {
   {
    {
      int x=2;
      printf("%d",x);
    }
   }
 }
}
a) 4 b)2 c)Nesting not allowed d)dependent on the compiler

4. Go through the following code sinippet
   char a[20];
   a="Hello Orcale Test";
   will this compile?
  a) Compilation Error b) Strings are allowed in c but cannot be assigned directly.
  c) dependent on compiler
  d) will work fine.

5. the _expression a+b*c should be conveted to  +a*bc. Using tree structure,

    Which traversal is the correct one?
    a) Postfix traversal b) prefix traversal c) infix traversal d)None

6. what about brk, sbrk
  a) system calls b) function calls c) user defined functions 

7. Why the use of alloca() is discouraged?
8. Macros support multiple arguments ?
9. the header file 
    a) contains only compiler directives and extern variables
    b) contail only structures and unitions
    c) a & b

10. what about "char *(*(*a[])())();"

ORACLE written will be of 60 questions.

1. precedence of PL/SQL
2.in an employee table consisting of empid and supid  to get 
supervisor id for employee (something like this related to ans. self 
join) we would use
Intersect
union
join 
subquery
3.The order of execution in corelated queries
Inner query executes first then outer query 
Outer query executes first then inner query 
each row of inner query is evaluated with outer query
each row of outer query is evaluated with inner query
4.declare
      i  Number
      j  Number
      k Number
begin
      i:=0
      for j = 1..5
                       i:=i+1;
                       j:=j+1;k:=i+j+k;
..........
5.function of ROLLUP and CUBE
6.Based on Group by clause rule that it should contain column found 
in select clause
7.Can procedure in a package be overloaded
8.public void static main(String []args)
{
String s1=new String("test");
String s2=new String("test");
if(s1==s2)
System.out.println("Both are equal");
Boolean b1=new Boolean("true");
Boolean b2=new Boolean("false");
if(b1.equals(b2))
System.out.println("some message");
}
output=?
9.
x=7;
y=0;
if(x=y)y=7;
else
y=5;
what is the value of y
10.Threading in java a prg was given in which it had no exceptions 
and run function had string as its parameter
a.runtime error
b.compile time error
c.
d.

11.what fuction can be repeated instead of comment
....
{
public void aMethod(String S,int i);
//here
....
}
a.public void aMethod(int i ,String S);
b.public void aMethod(String myobj,int j);
c.public int aMethod(String S,int i);
d.public void AMethod(String S,int i);
12.Encapsulation is implemented by
a.private variables and public methods
b.private variables and private methods
c.public variables and public methods
d.protected members
13.Based on scope of a variable
14.Recursive fuction are used to 
a.call itself
b.call other functions
c.return integers
d....
15.
int a[]={0,1,2,3,4,5}
int *pa=a;
which of the following is not the correct way to access
a.a[5]
b.*(a+5)
c.*(pa+5)
d.*(*pa+5)
16.
struct{
char emp[12];
int mpno;
}e;
struct e a[2]={{jack,2},{raj,8},{jill,2}}
struct e *p;
*p=a;p+=2
......
17.AVL tree is a balanced binary search tree
18.order of B+tree
19.Disadvantage of indexed sequential file
20.queue can be called as full even if its capacity is'nt.

__________________________________________________________________________
 

some of the questions:
Q:1/3th of the passengers gotdown at first stop and 30 people got 
into the bus,
  1/4th of the passengers gotdown at second stop and 12 people got 
into the bus.
in last stop 84 people got down from the bus.
What is the initial capacity of the bus?

Q:one person is running around a 180 sq yard filed, first 1/4 his 
speed was 10KMPH second 1/4 20KMPH third 1/4 30 KMPH and the fourth 
1/4 40 KMPH.
what is the average speed?

NOTE: there was a question on milk ,water ratio.. 

logical deductions..
Q: is x+y a prime?
  a. x is prime
  b. y is prime

options: 1. only "a" correct 2. only "b" correct 3. both are correct 
4. both are wrong.


C,C++,JAVA

Q: There were 2 or 3 C programs and the question is to point error in 
the  program or to predict the answer

Q:Which one of the following is not a storage type:
1. static 2. register 3. stack 4.auto
answer: stack

Q:what is the type of the second parameter of fopen() function?


Q:Which of the following is correct about constructor?
OPTIONS: 1.void type 2. return nothing 3..... 4.....
answer 2

Q:how do we store a constant value in java?
multiple choices given..
answer: using "final"

SQL:
please be thorough with SQL, PL/SQL

There were some questions where they gave query and asked whether it 
is correct or wrong if wrong what is wrong... 

Q: create table...........;
{table creation query)
Roll back;
what will be the output?
options ....



For Syntel:
few qns i remember are
_____________________________

The highest Score in an innings was 3/11 of the total and the next highest was 3/11 of the reminder. If the scores differed by 9, find the total score.
a) 151    b) 161   c) 121   d) 101   e) 137
Ans: c 
_____________________________

A boy was asked to multiply a certain number by 53. He multiplied it by 35 and got his answer less than the correct one by 1206. Find the number to be multiplied.
a) 37    b) 67   c) 87   d) 97   e) 107

Ans: 67
 

_____________________________

A Problem like this not exactly the same but on same model.
If the manufacturer gains 10 %,  the wholesale dealer 15 % and the retailer 25 % then the cost of Production of a table, if the retail price is Rs.1265
a) 632.50      b) 800      c)  814    d) 834.24
Ans: b
_____________________________

A trader marks his goods up by 50% and declares two successive discounts of 20% each. What is his overall gain?                                                
a) 10% gain   b) 4% gain   c) 4% loss   d) 10% loss   e) No loss  No gain
_____________________________
 


Train Problems - 3 as finding speed of train, how many secs it will cross each other etc.
 

_____________________________

Age problems -3 , find mothers age,fathers age etc.
 

_____________________________


Statistics Problems(probability) as A-this much , B-This Much, A n B-this much and A u B - ?
 

_____________________________

Angle Problems which deals with triangle - 3 problems.
_____________________________
 

 



 


Section III - Logical reasoning - 30 qns in 30 mins.

_____________________________

Tower of Hanoi Problem - Ans : 7
_____________________________

problem on fig. find the shaded area, square of size 14cm.. ans: 42 
_____________________________

problem on symmetric fig ;; ans less than the 1172(check) . 
_____________________________

Blood Relation Problems - 3
_____________________________

Then a passage is given on blood relation and 4 qns asked
how many male: ans -4 and few etc.
_____________________________

Find odd man out of the given series - 3 problems 
pretty simple put A-Z and number them 1-26 and then u can find easily odd man out.
_____________________________

Find the missing letter - was a bit tough to establish relation - 3 problems
_____________________________

u have 3 figure -based on the figures ques asked.. easy one..                 
eg: Fig Triangle means Strong, Fig Square means Tall, Fig Circle means Fair.
_____________________________

Ques asked is find the number that represents Strong Tall and Fair persons.. easy one ..

ANs : 4
_____________________________
 


ANother question Women,Sub inspector,graduates -  Ans: 3
_____________________________


An Flow Chart - GIven Units - 250 
find final Value with formulae - (units*1.25) and few calculations like this Ans:506.25
_____________________________


And two tedious flow charts couldn't remember them and the answers.
 


1. Difference b/n scanf("%s",msg);and scanf("%[\^n]",msg); where msg is a char array.

2.  What is ure of comma operator in for loop.

3. int shw(int *a){
 *a = 10;
 /* return stmt is missing */
}   

 main(){

      int p=3,q=4;

      q = shw(&p);

      printf("%d %d",p,q);  
  }

 

4. which is true 

 a. all automatic variables are declared with in the function

 b. all variables are automatic

 c. all not declared variables are automatic

 d. none 


5. What is recursion. Recursive prog to generate Fibonacci series . Is it a best method?

 

6. write 7*a interms of +,-,<<(assume overflow is not )

 

7. count number of 1's in a 32 bit integer.(i had not remembered whether array or integer).

 

8. main(){
       char *s1 = "hello",*s2 ="abce";
            strcpy(s1,"");
     s2[0] = s1[0];

            printf("%d%d",strlen(s1),strlen(s2));

} 

9. regarding memset

 

10.Algorithm to delete a node in Double linked list.

 

11. Difference b/n fgets,fscanf which u will prefer.

 

13. 

Unix
11.What is creon and whats diff b/n 'at' command.

 

12. what is system call and lib function. whats diff b/n them. abt execve - expalin.


13.some thing abt makeall

 

14.  write abt TCP,IP,ICMP

 

15.


         Which is the one way of communication:

a. call by value  only
  b. call by value and passsing an _expression.

1. Three beauty pageant finalists-Cindy, Amy and Linda-The winner was musician. The one who was not last or first was a math major. The one who came in third had black hair. Linda had red hair. Amy had no musical abilities. Who was first?
           (A) Cindy                       (B) Amy                       (C) Linda                       (D) None of these

2. Two twins have certain peculiar characteristics. One of them always lies on Monday, Wednesday, Friday. The other always lies on Tuesdays, Thursday and Saturdays. On the other days they tell the truth. You are given a conversation. 
                      Person A- today is Sunday, my name is Anil
                      Person B-today is Tuesday, my name is Bill                        What day is today? 
           (A) Sunday                       (B) Tuesday                       (C) Monday                   (D) Thursday

3. The difference of a number and its reciprocal is 1/2.The sum of their squares is  
           (A) 9/4                           (B) 4/5                           (C) 5/3                           (D) 7/4

4. The difference of a number and its square is 870.What is the number? 
           (A) 42                           (B) 29                               (C) 30                           (D) 32

5. A trader has 100 Kg of wheat, part of which he sells at 5% profit and the rest at 20% profit. He gains 15% on the whole. Find how much is sold at 5% profit? 
           (A) 60                           (B) 50                               (C) 66.66                           (D) 33.3

6. Which of the following points are collinear? 
           (A) (3,5)   (4,6)   (2,7)                               (B) (3,5)   (4,7)   (2,3)
           (C) (4,5)   (4,6)   (2,7)                               (D) (6,7)   (7,8)   (2,7)

7. A man leaves office daily at 7pm.a driver with car comes from his home to pick him from office and bring back home. One day he gets free at 5.30 and instead of waiting for driver he starts walking towards home. In the way he meets the car and returns home on car. He reaches home 20 minutes earlier than usual. In how much time does the man reach home usually? 
           (A) 1 hr 20 min                           (B) 1 hr                       (C) 1 hr 10 min                    (D) 55 min

8. If m:n = 2:3,the value of 3m+5n/6m-n is 
           (A) 7/3                           (B) 3/7                           (C) 5/3                           (D) 3/5

9. A dog taken four leaps for every five leaps of hare but three leaps of the dog is equal to four leaps of the hare. Compare speed?
           (A) 12:16                       (B) 19:20                       (C) 16:15                       (D) 10:12

10. A watch ticks 90 times in 95 seconds. And another watch ticks 315 times in 323 secs. If they start together, how many times will they tick together in first hour? 
           (A) 100 times                   (B) 101 times                   (C) 99 times                   (D) 102 times

11. The purpose of defining an index is  
           (A) Enhance Sorting Performance                       (B) Enhance Searching Performance
           (C) Achieve Normalization                                 (D) All of the above

12. A transaction does not necessarily need to be 
           (A) Consistent               (B) Repeatable               (C) Atomic               (D) Isolated

13. To group users based on common access permission one should use  
           (A) User Groups               (B) Roles               (C) Grants               (D) None of the above

14. PL/SQL uses which of the following 
           (A) No Binding           (B) Early Binding           (C) Late Binding           (D) Deferred Binding

15. Which of the constraint can be defined at the table level as well as at the column level 
           (A) Unique                   (B) Not Null                   (C) Check                   (D) All the above

16. To change the default date format in a SQLPLUS Session you have to  
           (A) Set the new format in the DATE_FORMAT key in the windows Registry.
           (B) Alter session to set NLS_DATE-FORMAT.
           (C) Change the Config.ora File for the date base.
           (D) Change the User Profile USER-DATE-FORMAT.

17. Which of the following is not necessarily an advantages of using a package rather than independent stored procedure in data base.  
           (A) Better performance.                                                   (B) Optimized memory usage.
           (C) Simplified Security implementation.                             (D) Encapsulation.

18. Integrity constrains are not checked at the time of  
           (A) DCL Statements.                           (B) DML Statements.
           (C) DDL Statements.                           (D) It is checked all the above cases.

19. Roll Back segment is not used in case of a 
           (A) DCL Statements.       (B) DML Statements.       (C) DDL Statements.       (D) all of the above.

20. An Arc relationship is applicable when 
           (A) One child table has multiple parent relation, but for anyone instance of a child record only one of the relations is applicable.
           (B) One column of a table is related to another column of the same table.
           (C) A child table is dependent on columns other than the primary key columns of the parent table.
           (D) None of the above.

21. What is true about the following C functions? 
           (A) Need not return any value.                           (B) Should always return an integer.
           (C) Should always return a float.                        (D) Should always return more than one value.

22. enum number { a=-1, b=4, c,d,e,} what is the value of e? 
           (A) 7                                (B) 4                               (C) 5                               (D) 3

23. Which of the following about automatic variables within a function is correct? 
           (A) Its type must be declared before using the variable.                   (B) They are local.
           (C) They are not initialized to zero.                                                 (D) They are global.

24. Consider the following program segment 
                                  int n, sum=5;
                                  switch(n)
                                  {
                                      case 2:sum=sum-2;
                                      case 3:sum*=5;
                                      break;
                                      default:sum=0;
                                  }
    if n=2, what is the value of the sum? 
           (A) 0                           (B) 15                           (C) 3                           (D) None of these. 


25. Which of the following is not an infinite loop?                                                           
   (A) x=0;                                                                           (B) # define TRUE 0.... 
         do{                                                                                    While(TRUE){....}
                /*x unaltered within the loop*/                              (C) for(;;)   {....}
            ....}
          While(x==0);                                                             (D) While(1) {....}                  

26. Output of the following program is  
                                main()
                                {
                                    int i=0;
                                    for(i=0;i<20;i++)
                                    {
                                        switch(i){
                                                        case 0:
                                                            i+=5;
                                                        case 1:
                                                            i+=2;
                                                        case 5:
                                                            i+=5;
                                                        default:
                                                            i+=4;
                                                        break;
                                                    }
                                    }
                              }  
           (A) 5,9,13,17                   (B) 12,17,22                   (C) 16,21                   (D) syntax error.

27. What does the following function print? 
                                func(int i)
                                {
                                    if(i%2) return 0;
                                    else return 1;
                                }
                                main()
                                {
                                    int i=3;
                                    i=func(i);
                                    i=func(i);
                                    printf("%d",i);
                                }  
           (A) 3                                (B) 1                                   (C) 0                               (D) 2

28. What will be the result of the following program?
                                char*g()
                                {
                                    static char x[1024];
                                    return x;
                                }
                                main()
                                {
                                    char*g1="First String";
                                    strcpy(g(),g1);
                                    g1=g();
                                    strcpy(g1,"Second String");
                                    printf("Answer is:%s", g());
                                } 
           (A) Answer is: First String                           (B) Answer is: Second String
           (C) Run time Error/Core Dump                   (D) None of these

29. Consider the following program 
                                main()
                                {
                                    int a[5]={1,3,6,7,0};
                                    int *b;
                                    b=&a[2];
                                }
      The value of b[-1] is 
           (A) 1                               (B) 3                               (C) -6                               (D) none

30. Given a piece of code 
                                int x[10];
                                int *ab;
                                ab=x; 
      To access the 6th element of the array which of the following is incorrect? 
           (A) *(x+5)                       (B) x[5]                       (C) ab[5]                       (D) *(*ab+5} . 
 

Computer awarness had ques from basic computer knowledge

 

 1,!,2,@,3,#,4,$,5, what is next in the series 
 Ans : %.

 

 Which is the oldest computing device still in use
 Ans : Abacus.

 

 Wat is WAP?
 Ans : Wireless Application Protocol.

 

 Nibble is equal to
 Ans: 4 bits

 

Solving Algos : A simple program was given and the output was asked for different values of inputs.

 I dont remember the exact ques. I am just giving a sample, which  is similar to the one given there.

 S= 0; C = 0
 Read A,B
 While ((2A+3B) < 100)
 {
 S = 3A - 2B
 c = c + 1
 }
 Print a,s,c

 Following this there were 5 quetions. every ques carried 1 mark.
 Wat is the output if a = 26 b = 12
 wat is the output if a = 24 b = 16 etc..

 

 

In Mathematics some ques were simple and others were a bit time consuming.

 |X| + X = 0 wat is the value of X
a) 1      b) 0        c) 1,0      d) None of these

 

 If 38473ABC(This was not the exact no given) is divisible by 75 what is ABC in the same order

 

 x + 1/x = 2 x^100 + 1/x^100

 f(z) = 1/1-x find f(f(f(1/x)))

 

 

 

The following questions got repeated from the pattern found in www.freshersworld.com
 

In the series 0, 3, 8, 15,__ What is the next number?
Ans :  24

 

X < 0, Y <> 0 then which of the following is always positive?
Ans. (x + y)^2

 

Let ax2 + bx + c = 0
If the sum of the equal roots is equal to the product of the same roots. Then which of the following hold true
Ans. b+c = 0

 

Find the value of (1.99)2
Ans. 3.9601

 

There is a room with 6' x 8'. A 1' tile is fixed along the 4 walls in one row. How many 1" tiles require to
finish the work.
Ans. 24

 

2 persons can finish a job in 8 days. First person alone can finish the work in 24 days. How many days
does the second person take to finish the job?
Ans. 12 days

 

In a car wheel, two spokes cover 15 degree. Then for the entire car, how many spokes are there?
Ans. 48.

 

What is the angle of degree suspended when two hands of clock showing the time 2.30.
Ans. 105 degrees

 

A person's salary is getting reduced by 20%. What percentage should be added to get back his
original salary?
Ans. 25%

 

Two persons start at the same point, walk in opposite directions with 5km/hr and 5.5km/hr respectively.
What is the distance separated after 2 and half hrs?
Ans. 26.25

 

A person starts walking at a speed of 5km/hr through half the distance, rest of the distance he covers with a
speed 4km/hr. Total time of travel is 9 hours. What is the maximum distance he can cover?
Ans. 40km.

 

In a rectangle the length is increased by of the original length . By what proportion should the
width be reduced so that the area will be the same?
Ans. 33

 

Find the nth number in the series is 1, -3, 5, -7.___
Ans. (-1)^(n-1)*(2n-1)

 

If a square is formed by the diagonal of the square as an edge, what is the ratio between the area?
Ans. 2

 

The perimeter of a rhombus is 52 units. One of its diagonal is 24 units.What is its second diagonals length?
Ans. 10

 

A cubical rectangular bar has the dimensions with the ratio 5 : 4 : 3. Its volume is 7500. What is the
surface area of the bar?
Ans. 2350

 

3 persons started placementpapers with a capital of Rs.3000 . B invest Rs.600 less than A, C invest Rs.300 less
than B. Then what is the share amount of B in a profit of Rs.886 ?
Ans: Rs. 265.8


1.Whats the noise?

They want to add 500 more in its payroll by christmas
I dont know how much % is freshers

---------------

2. How much they can fill your purse?

7500 for first 6 months 
10,000 for next 6 months
20,000 thereafter

Indian rupees! No dollar dreams ;-)
---------------

3. Any strings?

You have to sign a bond for 1 year and you become James Bond

---------------

4. If I break?

Your dad pays 1.5  lacs to them.

-------------

5. Where they put you?
Chennai, Bangalore, Mumbai 
- should be ready pack your bags in a jiffy (and many times too)

--------------

6. What if I get out in GD or test

Pray those in interview should refuse to sign the bond
Offer goes down the line in each campus

---------------

7. Any perks

One free Cadburys perk on joining
Dont like it take Halwa!!!!

---------------

8. To how much people they would offer in my college

Works out to 5-15% of test takers.
So Start 1..2..3......
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LANGUAGE SKILLS - 15questions
---------------
SYNONYMS,ANTONYMS & INCORRECT SPELLINGS

some words

1. acrimonous
2. inconspicious
3. bland
4. abate
5. cusp
6. profligate
7. vigour
8. lighten
(check the spellings in dictionary)




APTITUDE SECTION - 85questions
-----------------------------
 
 

odd man out-like man in
------------------------

1. A E I O  
ans o - (rest  are made of lines now tell me are a big zero)

2. (fig) circle star rectangle <another symbol> 
ans star - rest are flowchart symbols 

3. programs documents settings properties
ans properties (others appear in START menu - he! my favourite 
question)

4. processor ,motherboard ,display card, mouse
ans mouse - (others are inside the cabinet -- need out of the box 
thinking)
 
 
computer UNawareness
--------------------

5. where is SIM card found 
ans mobile phone (by the way can you expand SIM)

6. what is the lock symbol appearing in bootom of the browser mean
ans. connection secured (confusing another choice is Verisign 
secured - you will see tick mark when it is Verisign authorised)

7. expand WAP
ans Wireless Application Protocol

8. expand CORBA
ans Common Object Request Broker Architeture

9. 92.168.100.4 - means what
ans IP Address
 
 

crack choice a)sums choice b)your head
--------------------------------------
10.  Find the reminder when 333666777888999 divided by 3 or 9 or 11 ?


11. Which is the biggest perfect square amongst the following  : 
15129, 12348, 23716, 20736

12. In the series 0, 3, 8, 15,__ What is the next number?

13. X < 0, Y <> 0 then what is the possibility that the result is 
always positive?
Ans. (xy)^2

14.  Let ax2 + bx + c = 0
If the sum of the equal roots is equal to the product of the same 
roots.Then which of the following hold true
(a) a + b = 0
(b) a = 0
(c) c = 0
(d) a + c = 0


15.  Find the value of (1.99)2
Ans. 3.9601(dont calc - should be near to 4)

16.  There is a room with 6' x 8'. A 1' tile is fixed along the 4 
walls in one row. How many 1" tiles require to 
finish the work.
Ans. 24 

17. 2 persons can finish a job in 8 days. First person alone can 
finish the work in 24 days. How many days
does the second person take to finish the job?
Ans. 12 days

18. In a car wheel, two spokes cover 15 degree. Then for the entire 
car,how many spokes are there?
Ans. 24.

19. What is the angle of degree suspended when two hands of clock 
showing the time 2.30. 
Ans. 105 degrees

20. A person's salary is getting reduced by 20%. What percentage 
should be added to get back his 
original salary?
Ans. 25% 

21. Two persons start at the same point, walk in opposite directions 
with 5km/hr and 5.5km/hr respectively.
What is the distance separated after 2 and half hrs?
Ans. 26.25 (approx)

22. A person starts walking at a speed of 5km/hr through half the 
distance, rest of the distance he covers with a
speed 4km/hr. Total time of travel is 9 hours. What is the maximum 
distance he can cover?
Ans. 40km.


23. In a rectangle the length is increased by of the original 
length . By what proportion should the 
width be reduced so that the area will be the same?
Ans. 33

24. Find the nth number in the series is 1, -3, 5, -7.___
Ans. (-1)*(2n-1)


25.  If a square is formed by the diagonal of the square as an edge, 
what is the ratio between the area?
Ans. 2


26. The perimeter of a rhombus is 52 units. One of its diagonal is 24 
units.What is its second diagonals length?
Ans. 10


27. A cubical rectangular bar has the dimensions with the ratio 5 : 
4 : 3. Its volume is 7500. What is the
surface area of the bar? 
Ans. 2350


28. A persons salary iis decreased by steps of 20%, 15% and 10%. What 
will be the percentage decrease, if the
salary is decreased in a single shot?

29. 3 persons started placementpapers with a capital of Rs.3000 . B 
invest Rs.600 less than A, C invest Rs.300 less 
than B. Then what is the share amount of B in a profit of Rs.886 ? 
,
30. 178^2 -22^2
(USE (A+B)(A-B))

31. f(x) = x! g(x)=x^10 h(x)= 10^x for large values of x which is 
greater?

32. f(x) = 1/(1-x) find(f(f(f(x)))

33. x+(1/x) = 2.5 find x^2 + (1/x^2)

34. 2^(2^n) = 256 find 2^(2n)

35. x=0 y=0 6x+7y=42 find position(lies inside/out/on) of (4,5) in 
the triangle

36. 22 Jun 2003 is sunday which year previously did 22 jun became 
sunday

37. A man walked 30m west 5m south 10m west 35m north to reach 
tollgate find the dist from start to gate.
ans. 50m (use pythogoras)

38. area of square = sum of areas of rect1(41*27) and rect2(41*14). 
find square side.
ans. 41

39. find next in series  31,29,31,30,31,?
ans. 30 he!he!he!(they rep jan,feb,mar,.... hit your head)

Walk/Swim thro Coding

40. Input a,b
    s=0;
    c=a;
    d=b;
    while(d<>0)
    {
     s=s+c;
     d=d-1;
    }
    Print s

    for given values of a,b find the output
    5questions for different values of a,b 

41. Input a,b
    while(3a+2b<100)
    {
      s=s+a;
      a=a+2;
      b=b-1;
    }

      for given values of a,b (i remember one 29,5) find the output
        

Tips
1. Do the coding first and you are out - They are time consuming - Save the worst for last 
 
2. Be choosy - take the easy (questions) first - So scan scan scan 
 
3. best path in hexaware tree
    language ----> 
         odd man out ----> 
               computer awareness ----> 
                        easy sums ----->
                              difficult sums---->
                                          coding
 
 do this or find the path to your home. 
 

4.SPEED kills but also wins. Put your brain in 5th gear 
 
5.Blind goose guess - mark a or e - they are more probable 
 
6. Write your q paper code proper or your are a man overboard 
 
7. There is minimum  no of q to be attempted(so they didnt say explicitly) and no negative marking. So be generous!waste your ink! cross off for all questions 
 
8. They will ask u in the pep talk in GD waht is the first or last question or your code. 
   So watch out all those DANGER-PAST-QUESTIONS-FORGOT type fellows


Group Discussion
1. No GD only shout!!! - Our LOk Sabha Style
2. Shout at top of your voice and shout some meaningful points
3. Please train ur vocal chords! Drink our good pure(pun intended) water before GD
4. IF u cant then carry a loudspeaker
5. 10 per group max 3 groups
6. final interview they select 3 from each group
7. Dont think 1-proposer 1-opposer 1-moderator it could 3-proposer or 3 opposer too.
8. If your group is silent Please follow GD rules.
9. 30 minutes of shouting(3min-choose the topic, 2min-prepare,20min-shout)
10. They might also give you  a topic.
11. Please dont wait for your chance - Grab it
12. Be ready to summarise. Try to say all the points told and say conclusion is yet to be reached.
13. 2 or 3 choosen people will summarise.
14. Dont ever make unruly gestures. You are out immediately.
15. Be ready for any topic.Only general topic - no subject,economics style



*****************************************

WHAT I EXPECT

1. If you like my effort post ur thanx in the group  Encouragement energises me.

2. Update this questions and post it as Haxaware testv2.0

It would be easy for otherr to find the latest one

*****************************************


